
ANSWERS TO FINAL TEST

1) 8 24 2) ¯7 12

3)     24, 26, 28 4)  40, 41, 42
 
 

5)      The smaller number =3/4 6) 1st number =8
                              The larger number =9/4 or 21/4 2nd number = 9

3rd number = 10
7) Kay is 3 4th number = 11

Ray is 7
Fay is 9
May is 33
Jay is 35

8) Herbie is 7 9) Arvilla is 10
Magnolia is 21 Orvil is 26

10) Willie is 44
 Abigale is 41
 

11) 3 silver dollars
12 half dollars
6 nickels
15 pennies
9 quarters

 18 dimes

12) 2 quarters
6 half dollars
4 nickels
8 dimes
10 pennies

13) 3 dimes
12 half dollars
6 quarters
12 nickels
11 pennies


